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1 100kN/m%#8Z % 1.00| 0.00 ~ 0.35 105.20 |3m%EkEZ S -~ — — —| 100kN/m#%#8%%| 1.00 [11.71 ~ 13.00 105.20 [3mZE#EZ S -~ - — —
ZznLst 1.00] 035 ~ 8.14 100.00 | Z1List | 000 ~ 8.14 | 1.98 10.61 ZznLst 1.00| 5.00 ~ 11.71 100.00 | £ ist | 500 ~ 13.00 | 1.98 10.61
9 100kN/m#%#82x%| 1.00( 0.00 ~ 0.09 101.39 |3mZHBZ 3% -~ — — —| 100kN/m%#E%%| 1.00 [11.66 ~ 11.99 101.39 |3m%i#BZ 5 -~ — — —
ZznLst 1.00] 0.09 ~ 788 100.00 | ZnList | 000 ~ 7.88 | 1.99 10.63 ZznLst 1.00 | 500 ~ 11.66 100.00 | #hist | 500 ~ 11.99 | 1.99 10.63
3 100kN/m#%#82x%| 1.00( 0.00 ~ 0.12 101.72 |3mZHBZ 3% -~ — — —| 100kN/m%#E%%| 1.00 [11.60 ~ 12.00 101.72 |3m%i#BZ 5 -~ — — —
ZznLst 1.00] 012 ~ 7.90 100.00 | Z1List | 000 ~ 790 1.99 10.65 ZznLst 1.00 | 500 ~ 11.60 100.00 | £ ist | 500 ~ 12.00 | 1.99 10.65
4 100kN/m%#8 x5 1.00| 0.00 ~ 054 108.03 |3m%EkEZ S -~ — — —| 100kN/m#%i#8%%| 1.00 [11.79 ~ 13.90 108.03 [3m%E#EZ D -~ - — —
ZznLst 1.00 | 054 ~ 833 100.00 | #1List | 000 ~ 833 | 1.98 10.59 ZznLst 1.00 ] 500 ~ 11.79 100.00 | £ ist | 500 ~ 13.90 | 1.98 10.59
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00] 0.00 ~ 7.00 88.82 | N4t | 000 ~ 7.00( 1.93 10.34 ZznLst 1.00 | 500 ~ 10.00 88.82 | =14t | 5.00 ~ 10.00 | 1.93 10.34
" 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00| 0.00 ~ 405 50.78 | 14t | 000 ~ 405 2.08 11.13 ZznLst 1.00] 500 ~ 5.10 50.78 | #h 4t | 500 ~ 510 2.08 11.13
; 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ThLS 1.00 | 000 ~ 482 60.10 | #hbLis | 000 ~ 482 1.78 9.54 ThLS 1.00 | 500 ~ 5.10 60.10 | #hlu4t | 500 ~ 510 1.78 9.54
g 100kN/mM%#8Z % - -~ - —(3mZi#BZ D -~ — - — | 100kN/m#%#8% % — -~ - —|3m%i#EZ D -~ - — -
ThLS 1.00 | 000 ~ 477 59.46 | #hLls | 000 ~ 000 1.70 9.12 ZThst 1.00| 500 ~ 500 59.46 | #hli4t | 500 ~ 500 | 1.70 9.12
100kN/mM%Z#BZ 5% ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHEZD ~
ThLs ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHBZD ~
ThLs ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM%#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZ D ~
ThLs ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM%Z#BZ 5% ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHEZD ~
ZhLS ~ Zh s ~ ZhLS ~ Zh Lot ~
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